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(1) f(x)=2?+3z+2D&E

fl(x) = (@) +3(x) + (2) =2z + 3.
2) flx)=22+az+b (a bFEH) Q&=

(@) = (%) +a(z) + ) =2z +a.
3) flz,y) =2 +ay+y> DEE EMRIF?

Joe(z,y) =20 +1+2y 7
folmy) =204+y+y>?
fo(z,y) =22 +1+y*?
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(1) flr)=r2+3r+2DEE

f'(x)

() f()=2+ar+b (a bZER) D&

(2 +3(2) +(2) =22+ 3 +0.

()= (%) +a(r) + ) =22 +a+0.

(3) flr,y) = +ry+y? DEE y ZEHERT » THALT
folryy) = (%) + () oy + (¥ =20 +y +0.

B) flz,y)=2>+ay+1? DEE v EEHRERT )y THHLT
fo(z,y) = (%), +z(y), + (), =0+ +2y.
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(2) flz,y) =2z +3y)* DEE 2243y =t EEVWTARBBOMDEEMED &

= ((2z +3y)*),
= (), = ("), x te
= (t*), x (2z + 3y), = 4t° x 2 = 8(2z + 3y)°
= ((2z +3y)"),
= (#), = (1), xty
= (t*), x (2z + 3y), = 4> x 3 =122z + 3y)*
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(1) f(z)=sin(2z+3) DEE 2z +3 =t EBEVWVTERBROWDEEED &

d d dt d d
/ el _ N _
fi(z) = T sint = pn sint x e sint x o (22 + 3) = 2cos(2z + 3)

(2) f(z,y) =sin(2x+3y) DEZ 22+ 3y =t EBVWTEREROWDEEE
&

= (sint), x t, = (sint), x (2 + 3y), = cost x 2 = 2cos(2z + 3y)

fy(x7y) = (Sin(Ql‘ + 3y))y = (Sint)y
= (sint), x t, = (sint), x (2z + 3y), = cost x 3 = 3 cos(2zx + 3y)
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(1) f(z,y) = zysin(2z + 3y) D& & BOWDEICKY
fa(2,y) = (2y)a sin(2z + 3y) + y (sin(2z + 3y)),

= ysin(2z + 3y) + zy (2 cos(2z + 3y))
= ysin(2z 4 3y) + 2zy cos(2z + 3y).

fy(@,y) = (zy)y sin(2z + 3y) + zy (sin(2z + 3y)),
= zsin(2z + 3y) + zy (3 cos(2x + 3y))
= xsin(2z + 3y) + 3xy cos(2x + 3y).
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(1) f@) =V F1IDEE 224 1=t EBVNTAREROMSEEES &
d dt d 1

d 1 d 1 1 X
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F(@) dx\[ dtzxda? dtzxdm(x +1) 2 Fxsr 22 + 1

(2) flz,y)=V22+y? DEZE 22 +y? =t EBVTARBROWOEE[ED &

:(t%) x t :(t%) x (22 4 y?) D L
t ” t T2 \/W
fy(axy):( Jr2+y2) =(t%>
Yy Yy
1 1 1 Y
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( ¢ ¢ (@ 447y 4 /2% + ¢
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